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Q.1

Q.2

Q.3

Q.4

Q.5

Write True or False

el °r T ferat -

a) 14 comes between 15 and 17

14 Fgan 15 3K 17 @ fa a2

b) Largest 1 - digit numberis 9
OF 5 a7 Ham e @

c) 49 is greater than 50
yggzd so#

dy 20-20=0
e) 2x1=4

f) Aweek have 8 days
O ATe & 8 fet i &

Fill in the blanks -
Toews woIT o -

a) 4tens and 8 ones =

Yy erd it 8 T

b) Number name of 47 is

(%= 47 1 AT &
¢) There are month in a year. (0m T % wé i §)
d) 25+0=

&) The number comes just before 29 is

29 i i et 3 aTel A #

Match the following -
Tt = Torem =1 -

a) Eighty Three (FRHil)
b) 7 days (7 fi)

¢) 24 hours (24 TUg)

d) 28 days (28 fi)

&) First month of the year
(7 T T Hél)

Write in ascending order -

FrE s o ot
24,10, 4, 32

i) 1 days (Ui fe)
i) February ()
iii) 83

iv) January (F+adl)
v) 1 Week (1 HTTE)

Wite in descending order -

FaUE A o fema
30, 20, 40, 50




Q.6 Circle the smallest number - 2

HE BET WA U T S -

47 38 57 75
Q.7 Complete the patterns - 2
ST YU T -
15, 20, 25
Q8 39 42 2
a)> b) < g) = d) None of these (5 @ @i =)
Q9 45= tens ones 2
1| -; SR— BERIE suenaniigsmmamining
Q.10 64+15=7 2
a)78 by 79 c) 80 d) None of these {s=ri dwig =iff)
Q.11 Add =i - 2
ayb54 +44 =
b)62 + 27 =
Q.12 Multiply ToT - 2
a)2x7=
by9x2=
Q.13 How many sides are there in a triangle - 2
ek Forvget o foReet o et & -
a)3 b) 4 ¢l 5 d) None of these (5 @ wig 7d)
Q.14 Sunisabig 2
GCLCLEES
a) Circle b) Triangle c) Square d) None of these (g7l & wig 1)
Q15 7+0is 2
7+0%-
a)8 b)7 c) 70 d) None of these {z5i @ @i§ =)
Q.16 Which is the correct spelling of 40 7 2
40 ot WA AT E ?
a) Fourty b) Forty c) Fouty d) None of these (s @ wig i)
Q.17 The first day of week is 2
AT o UEe T &

a) Sunday b) Monday c) Tuesday d) None of these (s & wig )




Q.18 Ram has 5 toffies and shyam has 4. What is the total number of toffies with them? 2
T U 5 Ziht A JATH h UTH 4 kT & | 1 oh UTH S (oha 1 2ith! & -

a)7 b)8 c)9 d) None of these (s @ wig i)
Q.19 28-13=15 15+13=7 3

a)13 b) 15 c) 28 d) None of these (s @ wig i)
Q.20 Anita has 5 apples. She eats 2 of them. How many apples are left 7 2

AT & U 5 Wa § 360 T e @ fog 9w fimas daae?
a)2 b)3 c) 4 d) None of these (3i @ @ié =)
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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Write True or False

WAl ar Terd ferat -
a) 6+6+6+6+6=6x4

b) 20x0=20

¢) 2m 10cm =210 cm

otft. 10 #ft. = 210 WA,

d) Arectangle has four equal sides

U AT TR W Y T & -

e) The answer of subtraction is called the sum

Ter ¥ 3 G TEwT 2 -

Fill in the blanks -
ToewT woIT O -

a) 325+1256= +325.

b) 7x = 56

c) 100-82=

d) The predecessor of 567 is

&) The largest 3 digit numberis
il 3§l 1 A &f W e, #

The number just before 100 is
100 T A TEH TEAT & -
a) 101 b) 199 c) 99

Place value of 3in 123 is
123 H 3 M T TEE -

a)3 b) 13 c) 30

Smallest three digit numberis
How BIET A1 3WeR Tht W & -
a)i0 b) 99 c) 100

When we multiply a number by 0 we get
a7 [ W Ueh WS Sl U S & A UTe e &
a)0 b) 1

d) None of these (s dwi¢ 1)

d) None of these (s d &g )

2

d) None of these (s @ i =)

¢) Number ltself {wm g} d) Mone of these (s dwig =)




Q7

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

QA7

Q.18

400+ 60 +2 = 2
a) 4602 b) 462 c) 4062 d) None of these (gl @ wi§ =ff)
100 more than 177 is 2
100 | 177 ARER &

a) 277 b) 270 c) 377 d) None of these {z=ni @ @ig i)
7 boys have legs. 2
PRS- k- £ ORI -

a)7 b) 14 c) 16 d) None of these {z=ni @ @ig i)
48+ 6= 2
a)7 b)6 c)8 d) None of these {z=ni @ @ig i)
How many even numbers are between 10 an 207 2
10 TEIT 20 B &t FeRa 1 W0 HEATT & -

a)6 b7 c)8 d) None of these {z=ni @ @ig i)
How many minutes are there in 2 hours? 2
2 ¥ T fepas famzaia ¥2

a) 60 b) 100 c) 120 d) None of these {z=ni @ @ig i)
400 cm = m 400 WHT= Tiex 2
Sum of 457,243 and 123 = 2

457, 243 TUT 123 T I

225 less than 500 is 2
225, 500 AHAE

a) 225 b) 250 c) 275 d) None of these {30l @ @ig i)
40+ 30+ 20 = +10 2
a)70 b) 80 c) 90 d) None of these {z=ni @ @ig i)
There are 25 students in a row. How many students are there in such - 3
ek UTe o 25 BT & A1 SHT YeRIUehT 5 Utgaar o ferd= o1 &t -

a) 100 b) 125 c) 150 d) None of these {30l @ @ig i)
Sum of 3 hours 20 sec and 1 hour 40 sec is - 3
3 W2 20 WhE 9T 1 Wl 40 WehS W AT &

a) 3 hours 50 Sec (3 4e 50 4®3)
b) 4 hours 40 Sec (U 42 4o d®3)
¢) 5 hours (5 8)
d) 6 hours (6 dt)




Q.19 1 more than the smallest 3 digit number 3
o BiF HE § 1 g W -

a) 99 b) 100 c) 101 d) None of these (s @ i i)
Q.20 The quotient of 56/8 is 3
56/8 T RS & -

a)b by 7 c) 8 d) None of these {5i @ @i§ =)
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Q.1

Q.2

Q.3

Q.4

Q.5

Write True or False

WE o7 T ferat -

a) 123+ 321 =444

b) 717-171 = 666

c) 50 x 1000 = 5000

d) Place value of 7 in 3748 is 700
3748 1 7%l @ F7E 700 B ?

&) The Roman number for 45 is XXV
45 6 foro T 3 XXXV &

Fill in the blanks -
Toew worT O -

a) 1737 x0=

b) 7 hundred and 13 ones =
734t 3t 13 g0 =

c) Double of 15 =
151 & 71

d) The greatest number of 4 digit =
TR 3idl & gad & Je

e) What comes after 999
999 i a1 T2 I #

Wite the expanded form of 2347
2347 = fawqa wu fafag

Nearest 10 of 865 is

865 Th UTH THAT WEAT

Sum of 542 and 643 is

542 TOIT 643 T A&




Q.6 Write answer in Roman numerals 2

T 37 o 3 et

XIX-1X=
Q.7 Add = 2

3726+ 2152+ 1011 =

a) 6891 b) 6890 c) 6892 d) None of these (5 4 wig =iff)
Q.8 + 0= 8544 2

a) 8544 b) 8555 c) 8554 d) None of these (s 4 &g =iff)
Q.9 What should be subtracted from 3885 to get 17387 2

3885 T W =T U= h 1738 U &

a)2145 b) 2146 c) 2147 d) None of these (5 4 wig =iff)
Q.10 15x 3 = 45, then 45 is called 2

15x 3 = 45 7 45 Tl &
a) Multiplicand (T[0Ti)
b) Multiplier {1JUTH)

¢) Product (10F%)
d) None of these (3719 & mig =1T)
Q.11 One box of apple has 120 apples. How many apples will be there in 5 boxes - 2
ek Wa o are o 120 Ta 3114 §, 5 e o R da s -
a) 500 b) 550 c) 600 d) None of these (5i @ @i§ =)
Q.12 Arrange in ascending order 2
A e o fafay -
711, 511, 1111, 811
Q13 1/3+13+1/3= 2
a1 by 1/3 c) 1/9 d) None of these {s=ri dwig =ff)

Q.14 Y2 0of180is
180 Vo & 2
a) 180 b) 360 c) 90 d) None of these (s @ i i)

Q.15 Complete the patterns 2
STE T R -
1600, 800, 400,

Q.16 The standard unit of length is 2
TS TR TTeh TehTS & -
a)m () b) ecm (@) c) km (f&) d) None of these (s dwi¢ =)




Q.17

Q.18

Q.19

Q.20

8km 525m + 2km 475m = 3
8 feRtht 525 oY + 2fegft 475 T =

a) 8 km 900 m (8 faft 900 #)

b) 10 km 945 m (10 Tt 9us )

¢) 11 km (11 faft)

d) None of these (1% & Fig 71d)

A coffee mug cost Rs. 35.50, Find the cost of 10 such 3

WER ST T Shi ShITT 35,50 U@ &1 10 SHIAT T Thl Shim fehat @ivt -

a) Rs. 350 b) Rs. 355 c) Rs. 3550 d) Mone of these (37 4 wig 1)
15 minutes to 12 can be read as 3

15 Tz 12 @t Ug TERd & -

a) Quarter Past 12 (frmre fioet 12) b) Quarter to 12 (T & form 12)

¢) Half Past 12 (3mft figet 12) d) None of these (1 A ®ig 6)

The product of two numbers is 510. If one numberis 10, the other number is 3

Tl AT T TUTRA 510 ¥ AT Uek WA 10 & A g WA ahi ?
a) 50 b) 51 c) 52 d) Mone of these (s & wé =T}
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Q.1

Q.2

Q.3

Q.4

Match The Column 5
el faer smifa -
a) Predecessor of 89 iy1/3

89 <hT YUTIeR

b) 1000 contains iy 4.7
1000 B id &

c) 82879+ 0 iii) 88

d) 47H0 iv) 3 Zeros (3 919 )
g) One third is v) 82879

(e forarg )

Fill in the blanks 5
a) The face value of the underline digit in 13,7032 is
137032 T VETTehd 37eh T U=I&T OT L

b) 98,233 - = 08,232

¢) The smallest prime number is

AT BE TR T #

d) Atriangle has sides.

(e Brgerat OwTd gt ¥

e) All the radii of a circle are

e o ki Wt g ELixd
Write true and false :- 5
et e et -

a) Smallest four digit number using 1,4,2,5is 2145.
A 1,4,2,5 Thi Ta® SIS =T R i TEAT 2145 F

b) When a number is subtracted from itself, the difference is 1.
W Ueh WA & W W] WS ® 92 A 3= 1 @ 8

c) 6, 12, 18, 24 and 30 are multiples of 6,
6,12,18,24 T30 WEATT 6 T UM &1

d) Atriangle with two equal sides is called an equilateral triangle. D

T AT AT Aren e wufgaTg s saera & -

e) Aline PQ s represented by PQ. O
ek 1T PQ Rt PQ @ 51T g9TiaT &

O O 0O

The Estimated sum of 53 and 72 is:- 2
53 3T 72 & 9 FT e -
a) 120 b) 123 c) 132 d) None of these (s @& )




Q.5

Q.6

Q7

Q.8

Q.8

Q.10

Q.12

Q.13

Q.14

Q.15

Q.16

The product of (11+8) X 7 by using distributive property will be :- 2
Teraor TpoTertd S AT (11+48) x 7 TOTAHS 2 -

a)133 b) 143 c) 153 d) None of these {s=ri dwig =ff)
The quotient of 797 + 6, by long division method will be 2
e faurer et fafa = 797 + 6 = 9w 2 -

a) 142 b) 124 c) 132 dy None of these {5k & wig 1)
The HC.F. of 5, 10 and 15is:- 2
5,10,15 W AAE & -

a5 b) 10 c) 15 d) None of these (s dwi¢ )
The prime factors of 56 will be:- 2
56 T AT TUFEFUE F

a) 2x2x2x7x1 b) 2¢x2x3x6x1 c) 2x4x3x1 d) None of these (gl @ w1 )
One equivalent fraction of ¥4 will be:- 2
Va o Telieh Ueh =T g -

a) 2/8 b) 3/6 c) 9/18 d) None of these (s @ i i)
The lowest term of fraction of 157/ 25 is - 2
15/25 R =TT Ug T For=T & -

a) 3/5 b) 4/5 c) 2/5 d) None of these (s @ i i)
Add the fraction 2/7 + 3/4 + 4/7 will be :- 2
2/7 + 3/4 + 4,7 =1 = i gw -

a) 4/7 b) 12/7 c) 57 d) None of these (s @ i =)
There are 365 days in a year.How many days are there in 8 years? 2
Tk ad o 365 o aid &t 8 o o i far ot -

a) 2820 b) 2920 c) 3910 d) None of these {z=0i & wi =#f)
Number to be added to 3891 to get 7938 is (2 marks) 2
3891 T =& W€ fek A 7938 & -

a) 4037 b) 3047 c) 4047 d) None of these (=i & wig 4ff)
Three prime numbers are 2
T ST WS -

a)3,57 b) 4,6,8 c)1,4,6 d) None of these (s @ i i)
The value of (3x4) ~ 6+1is 2
(3x4) ~ G+1 T AT & -

a)12 b)3 c) 4 d) None of these {z5i @ @i§ =)
925 meter converted to centimeter is 2
950 Tzt R W=l o wgfey -

a) 9250 cm b) 82500 cm c) 9520 cm d) None of these (g7l & wig 1)




Q.17 What should be added to 3/13 to get 10/137 2

3/13 W 5@ ATer ATY fek 1013 3 A4 ?
a) 7/13 b) 10/13 ) 413 d) None of these (s & @€ =)
Q.18 Study the bill to answer 2
Tt AT 3759 T ST ST -
Sl No. ITEM Quantity Cost in Rs.
1. BISCUITS 2 Packets 24.00
Toreerz 2 Hene
2. JUICE 1 Tetra Pack 57.75
oo 1 227 ek
3. BREAD 1 Loaf 13.00
LS 1um|
4, CHEESE 2 Cubes 16.50
=T 2
{iY The total bill amount will be
e farer wfyr @it
a)Rs. 112.25 b) Rs. 113.25 c) Rs. 111.25 d) None of these (5= @ wig =)

(i) If the shopkeeper is paid Rs 500, the amount he will return back will be?

afg GERE®, 500/~ T ST ST & 7t 30 Tepee wued oo &t ?

a) Rs. 382.75 b) Rs. 388.75 c) Rs. 380.25 d) None of these {s=ni & wig =iff)
Q.19 Number of side and angles in a triangle is - 2
ek B o fepaet oard sitvetor g ¥ -
a)2,3 b) 3,2 c) 3,3 d) None of these (s @ i =)
Q.20 The perimeter of the figure below will be 3
Tt fau T o =mr uftara & -
20m

gm 15m
" / a)50m b) 55 m

arm c)60m d) None of these {(z=ni & wig =)
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Q.1

Q.2

Q.3

Write True or False

WE o7 T ferat -

A) Place Value Of 7 in 715 is 700.
715 @ 7 T o TF 700 FAT & -

B) Smallest Number Using The Digit 3,2,7 And 1 Is 1732.
73,2,7 3T 1 B o Wow B HEr 1732 -

C) 0.50 + 0.050 + 0.0050 = 0.555

D) There Are 120 Minutes In 3 Hours.,.
3ud 120 e gd &

E) A Square Has 5 Sides.
TEAT 4 5 o At ¥

Fill in the blanks -
ToewT woIT O -

a) Asphere has corners

TEIA T __ s it #)

b) 5 meter = centimeters.

[R-icoy EeCarsicay

c) Ayears has days

TRAYE feraa &)

d) Rs. 8= paisa.
8 ®UH = i,

&) The number name of 6274 is

6274 i gr=at o foat

Match the following -
o7 = foem T &6 -

a)600+ 60 + 8 i) 100 centimeters (100 HdHie)
b) 1000 paise (1000 ) i) Plain surface (AW J%)

c)15x 8 iii) 668
d) 1 Meter {1 #i&) iv) 75

e) Table Top v) Rs. 10
(daw ot 30dl AnE)




Q.4

Q.5

Q.6

Q7

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

The sum of 456 and 231 2

456 3ATT 231 =T T B -

a) 682 b) 685 c) 687 d) None of these {s=ri dwig =ff)
The next two number in the pattern will be - 2

TH W@ h 3 & WAy, @i -

5,10,15 ’

a) 20,30 b) 25,35 c) 30,40 d) None of these (3i @ wig )
Mr. James planted 75 trees equally in 3 rows. Number of trees planted 2

o, S = 75 qe7 919 ulgmal o wOTT wU W o 9 yeeh Uiad O agr i -

a) 20 b) 25 c) 30 d) None of these (s @ wig i)
The product of 2/3x 3/4 x 172 is. 2

2/3 x 3/4 x 1/2 ST TUTHTT T -

a)8 b) 1/4 c) 1/6 d) None of these {5i @ @i§ =)
9 meter 3 centimeter converted into centimeter will be - 2

9 T, 3T 3 Wi, =Rt WA, W ufafda & -

a) 803 cm b) 903 cm c) 603 cm d) None of these (g0 & wig 1)
Ifthe divisor = 8,dividend = 32 and quotient = 4. Than the form of division will be - 2

afe T = 8, WTweh = 32 T 9IRSt = 4 T At wrEhm -

a)32=8x4 b)8=32x4 c)4=32x8 d) None of these (sl dw1¢ )
The perimeter of a square of side 6 cm is - 2

ot SRt oIS 6 Wt A ufmry g -

a) 23sq cm b) 36sq cm c) 40sq cm d) None of these (gl & wig 1)
The side of a cube = 5 cm, then its volume will be - 2

ek ¥ Rt I = 5 AT & sArae T g -

a) 50 cubic cm b) 125 cubic cm ¢) 40 cubic cm  d) None of these (s @ @ig =)

A train left Goa at 8.30 am on Friday and reached Delhi on Saturday at 10.10 am.
The total duration of travel will be- 2

e ¥ YIGRATT HElE 8,30 e 1 eRelT 1T fegeeT i e e 10,10 U UgS At oo Arsw
TR TOG FT9 HT -

a) 25 hrs 40 min b) 22 hrs 10 min ¢) 26 hrs 10 min  d) None of these (s & wig 1)

The value of 20+75 + (15x10) will be - 2
20+75 + (15x10) <7 | & -

a) 4172 b) 50/2 c) 55/3 d) None of these (s @ i i)
The sum of 30m 23cm + 80m 72cm will be - 2

30 ™. 23 WL + 80 T 72 WHT T AT F -
a) 110m 95 cm

b) 101m 95 cm

c) 95m 95 cm

d) None of these (9% 8 &if 1)




Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Raghav went to Agra on 10th May. He returned from there on 15th June. How 2
long was he away from homes?

U 10 TE T AT TN @E 15 [T R G 1 feha fG ok g oY T STat T -

a) 35 days ( 35 fg) b) 36 days ( 36 f&)

¢) 25 days (25 fa) d) None of these (37 # &g 7)

3 children weight 28.316 kg, 19.250 kg and 36 kg. Their total weight will be - 2
3 SO o ¥ 28.316 TR, 19,250 fermm. sitv 36 form, &t e agim -

a) 82.560 Kg b) 82.52 Kg c) 83.566 Kg d) None of these (5= & wig 1)
The product oftwo numbers is 6400.Ifthe LC.M ofthe two numbers is 400. 2

ThenH.C.F. will be-
T FATST ST TUTH 6400 ¥ AfE T FGATH I AT, 400 BT TR 7 -

a) 16 b) 18 c) 20 d) None of these (z=ni & wig =)
The number of angles in the figure below is - 2
fea & forr o shioT =R WA @t -
B
Q
D
a)4 b)6 c)3 d) None of these (570 & wig =)
The placevalue / face value and period of the underlined digit is 52,183 - 2
52,183  YaTler sl oa wTE 3ifeRT Toa 3t arafy g -
a) 80,8,ones (80,8, 3H1Y) b) 8,1, Thousand (80,1, &R)
c) 88,10, Lakh (80,10, &TRd) d) None of these (718 @ &i§ 1)

A pair of leather shoes costs Rs. 988.85 and a pair of sports shoes costs 799.90.
The pair of shoes which cost more and by now much is - 3
ek WIET 90 % S[A ki ShiTd 988.85 ¥ 3T Ueh WET Wied S shiud 799.90 ¥ @ &
el o feReRT Shiaa ey B S feRaT e i -

a) Leather shoes, Rs. 188.95

b) Sports shoes, Rs. 187.90

c) Leather shoes, Rs. 180.90

d) None of these (31 & i¥ )
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Q.1

Q.2

Q.3

Q.4

Q.b

Q.6

Q.7

Q.8

Q.9

The radius of a circle is ........... of the diameter.
EQCANEE: K= ROl

a) Equal (f@) b) Double (@ 1)

c) Half (smdt) d) None of these (518 @ mig -1e)
90 angle is called -

90" AT AT THIOT F -

a) Straight angle (W HioT) b) Obtuse angle (31fF HioT)

c) Acute angle (/I HiuT) d) Right angle (AW ®ioT)

To complete one round of a ground 500m running is required. If a runner wantto 5
km running then how many rounds are required to complete the 5 km running.

THT ohT ek SRR oA o 7@ 500 Y, Stew u=aT &) Uk arfaes @ 5 frendiecesl gt
it o @ forg e o o srerR o uEh -

a) 5 Rounds (5 @) b) 10 Rounds {10 7&H)
¢) 15 Rounds (15 @) d) 20 Rounds (20 T&H)

Product of%x %x% s RT T[OTHORGT FT BT

a) 5114 b) 3/8
c) 5/12 d) None of these (19 # ig =18)
Which number is not divisible by 9.

HITET e o | faufam & & -

a) 63 b) 1341

¢) 70 d) None of these (1 # Hig =18)

The price of one cooler is Rs 3250/-, then the price of Rs. 325 cooler is -
ek oIS Jod & 3250 a1 325 e R o ST 3 -

a) 3,25,000 b) 10,56,250 ¢) 10,52,500 d) 10,52,000

A shopkeeper purchased Rs. 4525 books and they put books in same size 25
boxes. How much books are contain in each box.

ek RITEIT 7 4525 foramal il 31 3= wes W 25 fesa o wam) gk fesat o fopat
Teramal & -

a) 121 b) 161 c) 188 d) 181

2048, 512,128 ... next number is -
2048, 512, 128 s h TS AT Aot FHEAT BT -

a) 64 b) 100 c) 32 d) 40

Increasing order 2. 1. 5is o STE SRT & -
6 66

a) b)

O
DN D=
[}

) )

D= D
Dl ®In
DG D=
N® N
im Gim

Answers

@®» ® ©



Q.10

QN

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Decreasing order 8, 8, 8 is =HT ITET#I R BT -
S i

9

a)g. 8.8 b) 8.8.8

397 573
c)3.2.9 d) 8.8.8

888 379
Solution of 33-21jg ¥ AT E -

4 2

a) 5/4 b) 9/4 g)d d) 1/2
Solution of (24x2) + (6+2) is
(24x2) + (6+2) ThT A BT -
a) 59 b) 61 c) 721 d) 51
The value of addition 27.52, 1.2 and 4.038 is
27.52, 1.2 374,038 T WS W YT BT -
a) 42.758 b) 32.748 c) 32.758 d) None of these {3 & wi¢ 1)

Raju suffered Rs. 12loss on selling toysfor Rs. 45. What is the purchasing price oftoys

TopeRl & 45 T Rgei aon we 12 Ewiaty g | wmTsn e Raets e v o wdid -
a) Rs. 47 (%) b) Rs. 57 (8.) ¢) Rs. 67 (&) d) Rs. 37 (8.)

The average of numbers 7,8,10,9 and 11 is

7,8,10,9 AT 11 & e g -
a7 b) 10 c)9 d)6
12 begs are contain 900 kg of rices. So how much quality the rise contain in on beg.

12 = o 900 TR wae and & 1 wek At feRa wraeT s -

a) 85 Kg (i) b) 65 Kg (&) c) 74 Kg (i) d) 75 Kg (fdm)
Solution of 5.691 + 7 is

5.691 + 7 TR 70T BT -

a) 0.813 b) 8.13 c) 0.883 d) 0.813

The addition of three odd number is always -

T Fearww w6 @i wed ... AT ® -
a) Odd (fRyn) b) Small (8t ¢) Even (um) d) Greater (a31)

Which of the following is an angle of 47°
o o' 1) 47 < SHOT T -

a) L—> b) \Q—
c) L. d) 44:

Answers

@ & ©

>

®)

©
©

©
©



Q.20 Value of 30" angle is called - Answers
30° U ATET SHIUT ShHEATT & -

a) Straight angle (W ®ioT) b) Obtuse angle (3w Hi0T)
c) Acute angle (R BivT) d) None of these (3 @ %i§ 78) @ © @
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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Fill in the blanks
AT T 91 -

a)42x 28X 15=28xX75%...........
DY77x85=77x90-77%........

) oo + 5671 =-1

d)Area of Rectangle (3T /T &15RTT ) = ..o,

e)22:5and5:22are ..o ratio (22:5 T 5:22 ¥R IATUNT )

Anis barrowed Rs. 3200 at 11% per annum. What is the amount paid at the end of
2V years by him.

T R 11 GiayTa arftieh s S U ® 3200 N US| IR 2% a9 A1g 36 &7t
feprt wfr wtert w2t -

a) Rs. 4000 b) Rs. 4560 ¢) Rs. 4080 d) Rs. 4600

By selling an article for Rs. 450 Sameer losses Rs. 50. At what price must he sell.
The article to gain 20%

Tk 9L & 450 T @od WHANEH & 50 a1l @idt & 20 gfage wra ok & fog wie
= g e fbe o et e -

a) Rs. 500 b) Rs. 600 ¢) Rs. 700 d) Rs. 550

LCM of 25, 48 & 75is-
25, 48 3T 75 T T FHTTAHE & -

a) 120 b) 1200 c) 1350 d) 1400

In the following numbers which in proportion

frofefiad o © it ey wor ¥ -
a) 24,45,18,30 b) 30,45,16,24 ¢) 5,6,20,18 d) 399,27

15 tons of iron cost Rs. 180000. So the cost of 260 kg of iron is -
15 =7 TE T ged & 180000 &7 260 TR wna <kt e & -

a) Rs. 3140 b) Rs. 3180 c) Rs.3130 d) Rs. 3120

The interest on a sum of Rs. 500 for 3 years at the rate of 5% per annum -

% 500 T 5 Uiayrd ATfties TS i ST W 3 A9 o ST /I -
a)Rs. 65 b) Rs. 25 c) Rs. 75 d) Rs. 70

The number which is 6 more than the product of x &y

qE T T T A 2 3y MU | 6 At ¥ -
a) 20 b) xy+6 o) 2x+6y d) Bxy

Let the length of the rectangle be thrice of its breadth, if the perimeter of the
rectangle is 96 meters, then what is the length and breadth of rectangle -

TWeh ATA ot TS SEehl wiTgrs W fom &) afg streaa o ufonm 96 Wizt d, it siraa &t
TS AT STSTE o gt -

a) length-36m, breadth-12m {@E-36 1, di3E-12 1)

b) length-38m, breadth-16m (waE-38 1, dlsrE-16 1ft)

¢) length-86m, breadth-10m (arg-86 =, at3E-10 1)

d) length-32m, breadth-12m (&g-32 #, lgE-12 1)

Answers



Q.10 The sum of three consecutive natural numbersis 153, then what is these 3 numbers -

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

7 SRHTT Yok TIEATSA o AT 153 &t o = weams il e g -
a) 50,51,52 b) 40,41,42 ¢) 62,65,66 d) 30,31,32

The complement at the angles of 25", 15" and 60
WIOT 25°, 15° & 60F % TR HUT E -

a)65’, 75", 30° b)65", 75", 35°
c)65°, 85, 20° d) None of these (g it i =ff)

The length of a rectangle is 16 cm and its perimeter 40 cm. The breadth of the
rectangle -

ek T Tht TS 16 THT & T SRt UfiommT 40 Tt &) 31Taa il SiteTs o= @i -
a) 16 cm (16 491) b) 6 cm (6#)
c)4 cm (4d) d) None of these (g it i =ff)

The area of rectangle is 120 cm? Then what is the length and perimeter of the
rectangle, of its breadth is 10 cm

Weh HATEA <hT §130ReT 120 Tt &) SERRT SISTS 10 Tt & @ 314 shi oTarg ua ufvorm i -
a) 20 cm (208#) b)54 cm (54 8) ¢) 12cm (124) d) 44 cm (yudit)

Write the name of angle which is shown in this shape -

T M€ AR | ST ATCAT SHIUT ST AT &7 -

a) 90’ b) 140° c) 120° d)136°

Fill a suitable number in the box in the following. So that the four number from a
proportion - 12, .14, 21

Ter T o Wk SUEER W fafay fod = Wead, Waru | & Wi -
a)18 b) 7 c) 16 d) 4

What is the ratio in simplest form of 21 hours to 35 hours
21 W o 35 U2l W TRETaH ST o i -

a)5:3 b) 3:5 c) 2:5 d) 1:3

A bullockcart travels 24 km in 3 hours and a train travels 120 km, the ratio of their
speeds -

ek SeTTET 3 W2 o 24 TRt wretet & 99T Wek ey 3 wE 120 feRdT ot & Rt wret
TRT TTITA FIT -

a)4:30 b)1:15 ) 1:5 d)2:15

Sum of the (-243) + 79 + (-3) + 515 + (-5) - TR QT &M -
a) 343 b) 123 ) 121 d) 323

Answers

@® ® ©



Q.19 The product of (-9) x (-4) x (-8) is W@ﬁmﬁm - Answers

a)-268 b)-288 c)-788 d)388 (A o

Q.20 The value of (-4)° +(-4)° is SRTTOTAHET &I -

a)12 b)26 c)18 d)16 ) © ©
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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Fill in the blanks
AT T 91 -

a) -17 is between the integers ................ and .................
8

8
b) 8y (Z4-21 =
7 W6 24

¢) Interest = PrincipalxRatex ...................
100

Uﬁaﬁiail;l'@ﬁ ............................... HE Wi &

e) T=100X ....covvn.....
PxR

Match the columns - W& SgH &AT -

A B
a) (a+b)’ a) a’+b*-2ab
b) (a-bY’ b) (a+b) (a-b)
c) (@b c) P+l
d)A dyx™
e) (x") e)a’+ 2ab + b*
a)b,aced b) c,aeb,d c)b,aecd d)e,ab,cd

Value of (Z°)is
(2= ur
a) 2% b) 2 c) 2%° dy 2"

Smallest number a[nong the following numbers
Haw BiET Sy WS ¥ -

a) 0.50 b) 0.05 c) 0.005 d) 5.0

Quotient of two Rational numbers is
T uftia HEane @ TR & -

a) An integer (JUTHH BTan)

b) A natural number (qUf #am)

¢) A rational number (TR#T &iTa)

d) A fraction number (i1 &t=m)

Factor of 4a°-9b” are 4a*-9b* W TUTTEVE FEATARad & -
a) (2a + 3b) (2a - 3b) b) (2a - 3b)?
¢) (2a + 3bY d) (4a + 9b) (4a - 9b)

The solution of x+1 , 5 - %1,  EWETE-
2 6
a)17 b) 16 ) -17 d)-16

Answers



Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Volume of acube is .............. (Side)’ T ERT FTTTT worvrvvsmorroreensones war & - (gamy
a) 1/(Edge)’ 1/{gmm)’ b) (Area)’ (&Aha)’
¢) (Edgey () d) d) None (s daté )

The surface area of a cuboid is-  &FTY T Uswiia SI5/ReT BT & -
a)lb + bh +hi b)2(b +bh+hi) c)ibh d)2(I+b)xh

Simple interest of Rs. 5000 at 12% per annum for 3 year is -

% 5000 UT 12 GTegT Sl GTH 3 AY THT FITOT 541 & -

a)Rs. 180 b) Rs. 1800 c) Rs. 2000 d) Rs. 1600
Between any two rational numbersthere are ...................... rational

TRl T uTieR TSt & weA ufda Ty gt & -
a) Finite (TRfe) b) Infinite (WTRMAE) c) Terminating (@@} d) 10

Factorize 2¢p + 10x+y + 5
2xp + 10x + y + 5% TOTIHT &7 -
a)(x+1) (x+5) b) (2x+1) (x+5) c) (2x+1)(2¢+5)  d) None of these (s dasig =)

The rectangle park is 90m long & 75m wide. A path 5m wide is to be build outside
around it. The area of the path -

ek STAARER aAfTer 90 . T 3Hi¥ 75 o =iter &, 3weh amat =y 31wk 5 . Sie v
TAT AT &) T T S @ -
a) 1750m’ () b) 1650m* () ¢) 1200m* (1) d) 1280m* (#F)

A path 2.5 m wide runs along inside a square park of side 60m. The area of the path is -
60 T, ST AT Wek AMTeRIY HET o WiaT SEeh! UfGHIaT ® &0 2.5 T, <ier v s g

T <RI &I30RET I -
a)525m” (i°) b)575m*(#t) c) 125m* () d) None of these (sl d i)

VWhat is to be added to 4/9 to the area will be 13/18
4/9 O @& SIS T ok &150RT 13/18 7 WIT -
a) 5/18 b) 18/5 c) 5/28 d) 5/16

The number of axis of symmetry for a square is -
Terelt ot o wmfhfe e 1817 Rt WA wel & -
a4 b)3 c) 2 dj 1

Ankita is 4 years older than Alka, if the sum of their ages is 16 years. So their
present age are -

SHTRAT ShT ST, STCTeRT T 3T W 4 A ATk &) afg =7 il ot g T A 16 a8 &t
STERT AT ST AT -

a) 6 Alka, 12 Ankita (6 HcTI, 12 3ifthdr)

b) 8 Alka, 10 Ankita (8 HcTI, 10 3iftr)

¢) 6 Alka, 10 Ankita (6 3eTl, 10 3ikdT)

d) 4 Alka, 10 Ankita (4 eI, 10 3ifthar)

Nishant covers 100m distance in 125 steps How much distance will be cover 325
steps.

TroTia 125 Shem weteRT 100 TieTeRt GO 79 ST & 9% 325 THEHl O R 1 gl 79 ST -
a) 240m b) 360 m c) 260 m d)180m

Answers
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Q.19 Atrain running at 72km/hour crosses a pale in 15 seconds. What is the length of the Answers
train

ek oSt 72 foRet HeT Rt oot 1 ot g8 U I R 15 Hehs T UTTehtAT & | SeE R oTag
TTET ?

a) 350 m b) 400 m ¢) 530 m d)300m A © @@

Q.20 Wite 15/8 in decimal form 15/8 TH GYTHCTE WEAT T ®0 H farag

a) 1.875 b) 1.625 c)1.125 d) 1.865 ) © O
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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Fill in the blanks

AT W7 9T -
a) Selling Price= ........ccooviiiiiin 1-discount%
100
- - i IR 1-=TA%
100

b) (@a+b+c¥ = ..o
c) (arby¥ =a’+ ... ab+3a ... +b®
d) Two lines perpendicular to same line are

T T A TR E T U FA S T s BT E -
e) Opposite angles of a parallelogram are ....................

T A T T 0T e A E
Match the following
WE AL AT -
1) (a+b)’ a) Quotient x divisor + Reminder

WTSTeh X ATTRET +

2) (a-b)’ b)x* + (a+h) x + ab
3) Dividend urs ¢) a’- 3ab (a-b)- b’
4) (x+a)(x+b) d) x*- 8k*
5) (x-3k)(x+3k) e)a’+ 2ab + b’
a)b.ea,cd b)ea,cb,d c)b,aecd d)e,c,ab,d
Factarize of 1-8F° is
1-8P° % TUTTEUE T 2T -
a) (1-2P)(1+2P+4P%) b) (1-2P)(1-2P+4P%
c) (142P)(1-2P-4P?) d) (1-2P)(1-2P-4P%)
Simplify 5x+1 / 3x+2 = 5 the result will be -
Sx+1/ 3x+2 = 5TR T T UCTTT YIS &7 -
ay-9/10 b) -5/4 c)-9/5 d)-3/10

The sum of angles (in degree) in each pair of opposite angles of a circle
quadrilateral is-

Teha TS T WA ST wh Yk I T SRION o AT F4T § -
a) 120 b) 160 c) 180 d) 200

In the hero formula vs{s-a)(s-b)(s-c) of finding area of a triangle "s" denotes
20 & TF 5T Bne o gt Vs(s-a)(sb)(s0) W " &

a) area of the traingle (Y T &3he)

b) perimeter of the traingle (Y & TRAMT)

c) Semi perimeter of the traingle (Y & HafuRwmT)

d) None of these (59 & mig 1d)

The square of 625/1296 is AT 625/1296 T W & -

a) 25/36 b) 15/26 c) 25/46 d) 25/24
Cube roots of 74088 is - 74088 W T &

a) 22 b) 42 c) 44 d) 122

Answers
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Q.9

Q.10

Qn

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

The area of a square sheet of paper is 3025 sq. meter, so the width of the sheet is -
ek TISRTY RIS AT &15TRST 3025 A1 WHT &, S SRS h1 iTSTS &iviT -
a) 55 cm (@) b) 25 cm (#f1) ¢) 125 cm (@) d) 155 cm (d@)

The raltional numbers form of 56,2398 is
56,230 TR Ui AT o T -
a) 1046 b) 1406 c) 1046 d) 1406
115 125 25 25
(7203 = ... is (7202°)* TR O & -
ay9 b) 16 c) 129 d)8
17517 "=
ay27 b) 221 c) 471 dy17
Rahim bought 120 oranges at therate of Rs. 2 per orange. He sold 60% ofthe oranges

for Rs. 2.50 each and the remaining for Rs. 2 per oranges his profit percent is -

A%, 2 giaHaeh U 120 Hat@iie | 369 60 Yagra Wats, 2,50 Uia Waterigvd et aerm

FOHAE, 2 PARIETH a0 SHRI T U TayTa & -
a)25% b) 15% c) 10% d) 5%
What is the marked price of a table if it is sold at Rs. 935 after allowing 15%

discount.

ek 2T T AR Yo o & A(G AF 15 GTa9Td aEeT 31 UTs, 935 T &l 1 -

a) Rs. 1150 b) Rs. 2100 c) Rs. 1100 d) None of these (i @ ¢ =iff)
In what time will a sum of Rs. 800 amount to Rs. 882 at a rate of 5% per annum -
5 gfagra arfder orT uT ke woa o w800 W 882 & WA -
a)2 years (291d) b)2%ayears (21281d)
c)3years (3H) d) 3% years (32817}
Solution of 255 + 10x + 5is
V5 WU &
a) 5Y5x° + 245 + /5 b) V5% + 25 + /5
¢) 56 + 25 + 5 d) 5% + 25 + /5

Sum of the two numbers is 45 and they are in ratio 7:8 so the numbers are -

T T T A 45 TAT IR AT 7:8 & A WA gt

a) 64 and 21 b)76 and 72
c) 24 and 21 d) 14 and 11
The ratio of a minor arc and its corresponding major arc of a circle is 1.3, then the

measures of the arcs -
Tt R o, T 3SR W T ST SR ATaT o ST 13 & g e s A i -
a) 20°, 60° b) 30°, 90" c) 907, 270° d) 120°, 360°

Base of parallelogram is -
AT S T ST T & -

a) area x height (&6 x HuE)
b) height / area (UK / &4%a)
c) area / height (&4 / HuIg)
d) area + height (&% + HaT¥)

Answers

® ©



Q.20 The total surface area of a right circular cylinder is - Answers

T i1 S ShT T IS SiheT BT & -
a) 2nr b) 2xrh
¢) 2mr (r+h) d) None of these (3 & #ig 1) @ o
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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Match the following -

W e Fey -

1) Aryabhatt (@) a) Vedic Maths (i miom)

2) Bhaskaracharya (MRaWRITH) b) Panch Siddhant {ta Rstid)

3) Bramhgupt (@) ¢) Aryabhattiva (smfed)

4) Varamihir (fTeMf¥) d) Siddhant Siromany (Rstid BRiFOR)

5) Bharti Kishna Teerth (¥Rl o1 it} ) Bramhasphut Slddhant (a%%pe fi=tid)

Fill in the blanks -

AT T 9T -

D) V3y-2=2VR+4= ...

i) y/3-7=M= ...,

iy loga(m)" =.................

iv) log ab=..................

V) LLEMAEH.CE S s
T FHTIE R X Tamd WoTaaaeh

IfA = {x:xis apositive integer and 4 < x < 12} which of the following statements are
true 7

afg A = {x : x FHTEER YOI 3T 4 < x < 12} 70 W T W HITAA &7
a) 2¢A b) 82A c) 16eA d) 7<A

A care traveled 432 km in 48 liters of petrol, if car have to go 180 km. How much
petrol will be required?

ek ShHIT 48 TH2T Uie | 432 Tortt wreat & afg seert 180 ot =rermm &t feramt oiter
gt T ?
a) 30 Liter b) 18 Liter c) 19 Liter d) 20 Liter

Find the probability of getting the number on both dies, when two dies are thrown to

gether ? T U Uek TIY Whek W11 UL G TATT 396k 3T K1 YTkl FTT SHiraq ?

a)1/6 b) 1/5 c) 1/8 d)1/3

Inthedata 2,5,0,7,4,3,5,3,6 4theclassesare 1-3,3-5 ........... frequency of class 3-5is
q292,5,0,7,4,3,5,3,6,4 TaT T 1-3, 3-5....... T AT =TT 3-5 i AT (T & -

a)3 b) 4 c) 1 d)7

Market price of a book is Rs. 30, This is sold at 15% discount, What is the discount
and the selling price of the book.

ek ek T 3iTehd Jod 5.30 %1 97 15 FTa9Td @22 wae st & | $9 Uk U fear war
T2 A IR forgha o o a2

a) Discount 15% Selling Price 25 (¥30e 15 ufoard, fawa 1o 25)

b) Discount 15% Selling Price 25.50 (f%130z 15 nftam, fae Je 25.50)

c) Discount 20% Selling Price 30.25 (36130 20 Ufi9m, %0 Ied 30.25)

d) Discount 15% Selling Price 31.25 (f%130e 15 uftam, faw qoa 31.25)

If simple interest of some money at the rate of 10% per annum for 3 yeas is Rs. 150
So the principal is -

afg fert e eRT 10 iy ol S0 3 AT WUNuT ST ® 150 @ 9 gEe wm?
a) 600 b) 500 c) 250 d) 750

Answers



Q.9

Q.10

Qn

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

What is the compound interest on Rs. 2000 for 2 years at 4% annual rate of interest
% 2000 UTT A1 % 70 4 GayTa aftiss =4St i o § oRkd( 5 5T FT?
a) 162.30 b) 163.40 c) 160.80 d) 163.20

The compound interest of Rs. 1800 at the rate of 10% annual for some times is Rs.
378. The time period is

% 1800 U 10 Uiy anftier 0w ot o srafy & foy werafg =9 & 378 ¥ agwma
|ty @?

a) 1 year (1 91d) b) 3 years (3 #Td)

¢) 2 years (2 Ao} d) 2.5 years (2.5 #1d)

Evaluate sin“30° cos’45” + 4 tan®30°+ %% sin“90" + 1/8 cot'6l’
sin“30° cos’45° + 4 tan’30° + ¥4 sin“90° + 1/8 cot’60°TRT W =/ T & -

a)sindl® +cot¥s  b) 2 c) 14 d) 48/ 14

A tree broke due to Strom, upper part of the tree touched the ground at 30° at a point
which is 30m away from the root of the tree, The height of the tree is -

T T OeT T Uek 947 22 AT | 987 ShT SO (5P SRt Ut 30° Rt Uty ivas H 30
e gl T At agT e S =g s ait?
a)51.96m b) 51.86 m c) 51.66 m d)51.16 m

Ramesh suffered 12% loss on selling a cow for Rs. 5280. Find the cost price ofthe cow.

YT AT E, 5280 Tatord 12 YA eRT ol T8z | TehT shel god ol 3 ?
a) Rs. 8000 b) Rs. 8250 c) Rs. 6340 d) Rs. 6000

In a two digit number, the tens digit is double of the ones digit, if the digits are
interchanged the number becomes 18 less then the original number so the number is

T SienT o (e T T e ot 3ok SRS o ieR B ST, Ar i skt o TR e € At
HEAT 18 A E W] &, T HEATST A -
a) 22 b) 19 c) 42 d) None of these (51 @ oi§ =il}

The measure of sides of a triangle are 30 cm, 16 cm and 28 cm, What is the area of
triangle -

ek Borger st oqemetl & wTw 30 W, 16 Tt 3t 28 Wit & @ Hre g s g -
a) 2223 cm’ b)221.13 cm?
¢)221.3cm’ d) 242.3 cm’

Evaluate log 4+ 100 -
log 4+ 100 &R o7 & -

a) 3/2 b) 1/2 c) 1/4 d) 3/4

Factorise of x*+5x+6
*°+5x+6 T TUMEUS ZT -
a) (x+5) (x+6) b) (x*+3) (x+2) C) (x+3)(x+2)  d)Noneofthese (smidaiéa)

x-coordinates of all pointson yaxisare ..........................
X387 WAt fargen e y Freores war & -
a)0 b) 1 ¢) Double (@) d)-1

if V5 = 2.236 (app), find 2 175 correct to three places of decimals.
afg /5 = 2.236 T gt A 2 /5 TR AT Ehw -

a) 0.794 b) 0.784 c) 0.964 d) 0.894

Answers
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Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

Q.29

Q.30

What is the descending order 4w'3_, 6w'1_CL 12w'2_5, 1430 of following surds -
43, 610, 12425, 1430

THAUTAT SR STATET R F -

a) 443, 6v10, 1225, 1430 b) 6+10, 1225, 6-10, 1430

c) 610, 443, 1225, 1430 d) 6+10, 43, 14430, 1225
tano x coté =tano x 1 /tand

a) tano.coto b) ¥2 c) 1 d)0

105° Solve by Sutra Ekadhikem Purven

105" Y TehT{2reh GaUT 5T 507 ehid U T ol 0 -

a) 1025 b) 11025 c) 10025 d) 11005
What is the distance between -2 and 4

2 31T 4 o sirer g E -

a4 by 2 c)8 d)6

If "Wa and nw'E are surds of same exponent -

afg n+a 3 nvb TR gt ure w5t e EAe -

a)nva x nvb =nvab b)n+va . nvb =n+ab

¢) na nvb =n+ab d) None of these

Simplest form of 33 x 5 is -

342 x 5 T WeeTAT w0 g -

a) 3+10 b) 37 c) 6500 d) 6+300
If a real function g is define such that at any paint x its value is g{x) = 4 x +3. s0

g (-3)is

AqfE AR el g T JehIT I ehi foh x TTEMERT AT g(x) = 4 x +3 @ @l g (-3) &

L IERCS L

a)9 b)6 c)7 d)-9

Value of the polynomial 4t" + 5t°-t* + 6 att=a, t =2

t=a, t=2uwagug 4" + 5t°- t* + 6 W & -

a) 116 b) 108 c) 101 d) 106

©On subtracting 30 from the double of a number. We get 56, what is that number -

ek WEATh T 0 © 30 W2 UTEH 56 UTHT &7 & o WA o gt -

a) 83 b) 97 c) 33 d) 43
Cos30F +Sin60* _ -

1+Sin30° + Cos60°

a) Sin 90° b) Cos 30° ¢) Sin 60°Cos 30° d) None of these
Aryabhatt was bornat ......................... Patna.

HATHTZE T T covevrnnsssssssssssssns TEAT W AT o7 -

a) Mahidpur (#éleR) b) Raipur (3T}

¢) Kusumpur (F9R) d) None of these (19 & Tig T€l)

@
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